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	Skid:  Too Much Right Pedal.
(Same/Inside/Bottom Rudder)
If the airplane is skidding toward the outside of the turn, it will have a tendency to roll to the inside of the turn because the inside wing stalls first.  The outside wing is going faster producing more lift causing an over-banking tendency.
Inside rudder causes the nose to pitch down.

Skid = Inside
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	In Trim:  If the coordination of the turn at the time of the stall is accurate, the airplane’s nose will pitch away from the pilot just as it does in a straight flight stall, since both wings stall simultaneously.
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	Slip:  Too Much Left Pedal (Opposite/Outside/Top Rudder).

If the airplane is slipping toward the inside of the turn at the time the stall occurs, it tends to roll rapidly toward the outside of the turn as the nose pitches down because the outside wing stalls before the inside wing.
Slip = Outside
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Increasing the rate of turn without using rudder increases the horizontal component of lift without an opposing increase in centrifugal force, and the aircraft slips to the inside of the turn.
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A cross-controlled stall is a skidding turn due to the pilot compensating for the over-banking tendency of the outside wing, not because the pilot crossed the controls, which would normally be a slip condition.

